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. AA e 2 A &3] (Interactive

gratitude)

A2 37| (Thought Rhyming)

. LI57] (Interactive Sharing)







Avoid Harms
o




The strength of relationship is

determined by quantity and

quality of interactions.







| (Human connections)
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Secure Attachment:
4Ss

. Safe: a parent protects a child from harm, and is not
the source of terror for the child.

. Seen: sensing the inner feelings, thoughts and meanings of
a child beneath externally visible behaviors

. Soothed: the parent helps the child regulate emotions in
times of distress

. Secure sense of self is developed.
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"Securely attached children begin validating
themselves as early as 18 months of age.
When we have suffered many
misattunements (poor or no mutual mind) we
tend to invalidate, accuse and blame instead
of validating.” Immanuel Journaling p. 41
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COHERENT NARRATIVE
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